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C.l.|f. X f xX-x )| (X-x ) (xX-x )°f
12-18 | 8 15 120 8.52 - 72.59 58.07
18-24 | 12 21 162 -2.52 6.35 76.2
24-30 | 20 27 540 3.48 12.11 242.2
30-36 | 6 33 198 9.48 89.87 539.22
36-42 | 4 39 156 15.48 236.63 1054.52
50| 135 1176 420.55 1970.21
Then
X =2352, V(x)=39.4, standard deviation = 6.28
CV.= g x 100 = 26.70 %
X
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7 7 38 36.5-39.5 37-39
Sl an i 9 2 41 39.5-42.5 40 — 42
Cpniil) (el 458 13 4 44 42.5-45.5 43 — 45
15 2 47 45.5—-48.5 46 - 48
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Q2 =395+ @x@) =395+ 0.75 = 40.25

Py = 425 + “L;g]x(s) = 425+125) = 43.625
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X Y 7 1 XZ X 2
Y
5 2 0.5 2.5 25
6 1.6 0.62 3.75 36
7 14 0.71 4.79 49
8 1.2 0.83 6.64 64
9 1.1 0.9 8.1 81
10 1 1 10 100
11 0.9 1.1 12 121
12 0.8 1.25 15 144
68 6.915 63.06 620
x-2_85, 7= _0ge4
8 8
a=Z-bX=
8x63.06-68x6.915 34.26
b= = =01
8 x 620 — (68)° 336

a =0.864 - 0.1x85=0.014

Z=0014 +01 X

1
0014 + 01 X
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